National 5 Modern Studies Sample Questions
Crime and Law
1.	Describe, in detail, the types of crime most commonly committed by young people.
2.	Explain, in detail, the causes of crime / why some people commit crime.
3.	Describe, in detail, the ways the police try to reduce crime levels.
4.	Describe, in detail, the adult courts in Scotland. 
5.  	Describe, in detail, the sentences criminal courts in Scotland can give to offenders.
6.	Explain, in detail, why some people think that prison is not a suitable punishment. 
7.	Explain, in detail, why some people think prison is the most suitable punishment for some offenders.
8.	Explain, in detail, why Scottish courts often use alternative punishments to prison when dealing with offenders.
9.	Explain, in detail, the consequences of crime. (On individuals / families, communities). 
10.         Explain, in detail, the ways people are affected by crime.
11.	Explain, in detail, the reasons why some people are affected by crime more than others
12.	Describe, in detail, the ways the Children’s Hearing System can help young people in Scotland. 
13.	Describe, in detail, the ways the Government have tried to tackle / reduce crime. 
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Crime and Law
1. Describe, in detail, the types of crime most commonly committed by young people.
	Point 
	Explanation
	Example
	

	1.
A type of crime commonly committed by young people is Gang Crime.  



	This means Gangs are normally based on territory, and involve fighting with other gangs, this has a negative impact on their community.
	For example, this involves many young men, and girls to a lesser extent. They may join a gang for protection or to feel they belong to something and need to commit crime as part of the activities of the gang.
	In addition, Gangs and gang fighting are strongly linked with knife crime since some of these gang members carry knives for fighting with other gangs. This shows that gangs are common in young people and can lead them into committing crimes.



	2. 

A type of crime commonly committed by young people is Anti-social behaviour


	This means persistent behaviour which causes an annoyance, alarm and anxiety to other people.
	For example, this could include graffiti and vandalism. It could also be giving verbal abuse to people in the street or home area.
	In addition, often anti-social behaviour in children is fuelled by underage drinking, or peer pressure when a child may want to gain respect or feel party of a group by taking part. This shows that Anti-social behaviour is common in young people and can have a negative impact on the lives of people who live there.


	3.
A type of crime commonly committed by young people is Attempting to buy alcohol underage.
	This means the law has decided that you have to be over 18 to purchase alcohol.
	For example, some youngsters commit a crime by buying alcohol for themselves. Other young people who are over 18 may also commit a crime by buying alcohol for a person who is not 18.
	In addition, young people may also commit the crime of being drunk in a public place such as a park, since they are unable to drink in bars due to the age restriction. This shows that crimes related to underage drinking are common amongst young people.




2. Explain, in detail, the causes of crime / why some people commit crime.
	Point 
	Explanation
	Example
	

	1.

One reason that people can commit crime because they are poor.



	This means that poorer families who are unemployed or unable to claim benefits may not be able to afford material goods or food and commit theft to meet their needs.


	For example, families including children may be forced to shoplift in order to get essentials like food to feed their family.
	In addition, our society attaches much importance to material goods that people want to acquire them even though can’t afford them. This shows the pressure that people who are poor have to commit crimes like theft.

	2. 

Another reason that people can commit crime is because they have consumed too much alcohol.
	This means that Alcohol can make people more reckless as alcohol numbs the senses and can change traits of our personality. 50% of violent crimes are committed while people were drunk.
	For example, 50% of violent crimes are committed while people were drunk and 50% of Scotland’s prisoners said they were drunk when they committed their offence. 

	In addition, People who are dependent on drugs or alcohol and are desperate for them can turn to crime to support their habit, such as stealing money or property to sell to pay for more drugs. This shows the link between alcohol and committing crime.


	3. Another reason that people can commit crime is because they have had a bad upbringing.
-Also remember
Terrorism, greed, peer pressure, mental illness
	This means that if a child’s parents have no respect for the law or another person’s property then he/she will grow up with the same attitude.
	For example children who do not have set boundaries, such as not stealing, may feel that taking or vandalising other people’s property is normal behaviour. 
	In addition, these children may also not value education and then end up with a poor education making it more likely that they will be in poverty and may commit crime to pay for their needs. This shows the strong link between upbringing and crime.



3. Describe, in detail, the ways the police try to reduce crime levels.
	Point 
	Explanation
	Example
	

	1.
One way that the police try to reduce crime levels is to be present at large public events where there could be disturbances with large crowds, they act as a deterrent to crime.

	This means that their presence at football matches to separate rival fans from fighting and colliding with each other in stadiums can stop these crimes from being committed.
	For example, the police were present at the Scotland vs England football match at Hampden stadium in November 2016 to prevent any potential clashes between the fans, as many supporters would not start a fight when they knew so many police were about and they would be likely to be caught.  
	In addition, the police are consulted on the times of football matches and generally argue to have matches earlier in the day in the hope that fewer fans will have consumed alcohol and lessen the chances of violence and disorder at football games. This shows how effective the police involvement in football can prevent disorder at games.

	2. One way that the police try to reduce crime levels is to offer advice through their crime prevention branch.

	This means that police can give information on the protection of property and crime prevention to members of the public looking for help.
	For example, advice on crime prevention advice could involve helping to set up neighbourhood watch scheme to ensure that residents take all necessary precautions to prevent their house being broken into. 
	In addition, police could attend schools and talk to pupils about being aware of internet dangers and help them spot child offenders and prevent children putting themselves in danger of a crime being committed against them. This shows the role of police in preventing crimes through information sharing.

	3.

One way that the police try to reduce crime levels is through Community policing


	This means that police officers get to know the public and develop local relationships with residents and workers to the area.
	For example, police could regularly talk to residents in a housing scheme and a relationship of trust could be built. This would make it more likely that residents would confide in crimes within the area such as drug dealing and provide information to detect or prevent such crimes.
	In addition, police can attend local schools and help pupils identify them as trustworthy and reliable. This would make it more likely that pupils would share information such as the whereabouts of missing teenagers and prevent any crime being committed against them if they are vulnerable. This shows that police working in the community can be an important method for the police to prevent crime.


4. Describe, in detail, the adult courts in Scotland.
 5. Describe, in detail, the sentences criminal courts in Scotland can give to offenders.
	Point 
	Explanation
	Example
	

	1.

One type of adult court is the Justice of the Peace Court



	This means that this court deals with minor offences such as breach of the peace, being drunk and disorderly and minor traffic offences.

	For example, due to these cases, the longest prison sentence which can be imposed is generally 60 days and the maximum fine is up to £2500.

	In addition, this court is presided by a lay magistrate (Justice of the Peace) and has no jury. This means that this court can only deal with minor crimes making it the lowest level of adult court.

	2. 


Another type of adult court is the Sheriff Court.

	This means that it can deal with more serious cases than the Justice of Peace court such as assaults and drink driving offences.

	For example, cases can be heard before a sheriff or a sheriff and a jury. The maximum sentence for cases heard before a sheriff is a fine of £10,000 or 12 months in prison. The maximum sentence for cases heard before a sheriff and jury is 5 years in prison or an unlimited fine.
	In addition, this court has a range of non-custodial options such as community payback and probation that can be used if custody is not the best punishment. This shows the range of options open to this court.  

	3.

Another type of adult court is the High Court 


	
This means that this court will deal with the most serious crimes such as rape and murder.
	For example, this court will always be heard before a judge and jury of 15. The maximum sentence from this court would be an unlimited fine or life imprisonment.
	In addition, as this is the highest level of court, if you are not satisfied with a decision of the sheriff court in criminal cases you may be able to appeal to the High Court. This shows the high level of cases brought before the high court.


6. Explain, in detail, why some people think that prison is not a suitable punishment. 
	Point 
	Explanation
	Example
	

	1.

One disadvantage of prison is that it is very costly. 



	This means that the government has to spend a large amount of money on running prisons when the country has significant problems like poverty and ill health and the money could be used in these areas.
	 For example, the average annual overall cost of a prison place in England and Wales is now £36,259.59. This is more than the average wage of £27,600. The UK spends more on their prisons than most other EU countries. 
	In addition, as the rate of prisoners has been increasing as prisons have been overcrowded every year since 1994, so the government will need to invest more money on building more and bigger prisons which will be an even greater expense than the yearly running costs. The government is also finding it difficult to fund the staff for these prisons which has led to greater violence and disorder in prison making them unsafe and not fit for purpose. This shows that prisons are becoming too expensive to run and the country cannot afford to run them safely.

	2. 
Another disadvantage is that prisons are detrimental to families. 



	This means that families can suffer financially, socially and emotionally when a family member is in prison as more than double the number of children are affected by parental imprisonment than divorce.  
	For example, Two-thirds of families said their debts had increased since the imprisonment of their relative. This can lead to homelessness and poverty in these families who may no longer have anyone to help provide necessities and life can become very hard.
	In addition, Parental imprisonment approximately trebles the risk of antisocial or delinquent behaviour by their children. This shows the long term effects of imprisonment as it is more likely that a cycle of criminality and poverty could occur showing how disadvantageous prison could be. 


	3.
Another disadvantage of prison is that it does not work.


	This means that prisons are aimed at reducing crime by rehabilitating offenders or acting as a deterrent. However, statistics show that it does not stop criminals returning to crime after being in prison.
	For example, statistics show that 46% of adults are reconvicted within one year of release and over two-thirds (68%) of under 18 year olds are reconvicted within a year of release. At present in the, the numbers of people in prison in the UK is higher than most other EU countries is high while crime rates are the highest in Europe.
	In addition, the number of prisons receiving English and Maths qualifications in prison has fallen by a third from 2010-2015. This shows the failure of rehabilitation as there is less chance of gaining employment after prison without further qualifications and this may lead to a return to offending which proves a disadvantage.



7. Explain, in detail, why some people think prison is the most suitable punishment for some offenders.
	Point 
	Explanation
	Example
	

	1.
One reason that prison is more suitable punishment is because it prevents people from committing crime.




	This means that the public will know that people who commit violent, dangerous crimes can be put in a safe place and cannot harm anyone else.
	For example, the man found guilty of shooting and killing the MP Jo Cox will now serve life imprisonment and the public can be reassured that he will not be able to hurt another innocent person while he is in prison. 


	In addition, prison is only used for serious crimes and is the only punishment that can remove a dangerous person from the public. This shows why some people feel that this is the most suitable form of punishment.

	2. 

Another advantage of prison is that it shows that there is a punishment to deter people from committing crime.

	This means that people may decide against committing a crime if they feel that they are likely to be sent to prison.
	For example, in countries where the number of people sent to prison was reduced such as Canada, there was a significant increase in crime as there was nothing to fear from the justice system. 
	In addition, offenders cite the lack of freedom as the worst thing about prison and shows that it can be an effective punishment to prevent people committing crime.

	3.

Another advantage of prison is that it aims to rehabilitate criminals.

	This means that prisoners are given opportunities to be gain qualifications or training to help them find work on their release.
	For example, one of the reasons that people commit crime is because of poverty which may have been due to a lack of education allowing them to be successful in the workplace. 
	In addition, Theatre Nemo in Barlinne helps prisoners deal with the social and emotional issues which contributed to them committing crime. This shows that offering criminals an alternative to a life of crime may be an effective way to steer criminals from a life of crime and offer the hope of a more positive lifestyle.




8. Explain, in detail, why Scottish courts often use alternative punishments to prison when dealing with offenders.
	Point 
	Explanation
	Example
	

	1.
One reason that courts may use alternative forms of punishment to prison is because it can be more appropriate to keep an offender in the community.

	This means that for less serious crimes, it may be more appropriate for some people/crimes, for an offender to keep their job as offenders can be more likely to commit crime if they are in poverty, unemployed 
	For example, a person committing a minor theft may be issued with a fine instead of being sent to prison. 

	In addition, this money could be used to offset the cost of a court trial and payback some of the costs of crime to the public.

	2. 
Another reason that courts may use alternative forms of punishment to prison is because it can keep families together.
	This means that it would allow a measure of freedom to remain in society allowing offenders to remain with their families which is an important factor in preventing re-offending.

	For example, Tagging orders can be used to curtail some freedom and keeping track of offenders whilst not breaking and damaging family relationships as prison may do.

	In addition, this can set a better routine and pattern for offenders and may reduce the risk of reoffending.

	3.

Another reason that courts may use alternative forms of punishment to prison is because it is much cheaper for the tax payer.

	This means that as keeping offenders in jail can cost £40,000 a year per criminal- this money could be spent on areas to help victims or other members of the public.   

	For example, Community Pay back orders can be used which allow a community to benefit from unpaid work e.g. Community pay back cleaning which can give something back to the community and even help the offender gain a sense of pride in their community and reduce reoffending rates. 

	In addition, using alternative methods would reduce the prison population and prevent overcrowding which means that new, larger prisons would not have to be built, further increasing the costs to tax payers. 




9). Explain, in detail, the consequences of crime. (On individuals / families, communities, and wider society)
10) Explain, in detail, the ways people are affected by crime.
	Point 
	Explanation
	Example
	

	1.
One consequence of Crime is that it can have a financial impact





	
This means that money from taxation has to be used to pay for the consequences of crime. The overall cost of crime in the UK runs into billions of pounds. This can affect essential services like healthcare. Money is needed for the police to catch criminals and also courts to prosecute criminals. Money from taxation is used to pay for prison or alternatives to prison
	
For example, in the 2011 London riots hundreds lost their homes and businesses. The total cost was around ½ a billion pounds with 5000 compensation claims after the riots.

	In addition, If crime rises more money is spent on this rather than hospitals or schools leading to poorer healthcare and education showing a negative effect of crime.

	2. 

Another consequence that Crime can have is the financial impact on individuals.

	This means that victims may need to pay for things which they would otherwise not needed to have spent the money on and it may cause financial hardship as people do not budget for being the victim of crime.

	For example, If an individual is burgled and they claim on their insurance this can cause their insurance premiums to be raised. Individuals without insurance may have to replace stolen property after a burglary or theft.
	In addition, they also may choose to fit expensive security system or they may pay for taxis at night rather than walking due to fear of being a victim of crime again showing a negative effect.

	3.
Another consequence of Crime is the emotional impact on individuals.



	This means that the emotional side effects have been shown to last longer than the physical impact such as bruises.
	For example, If you are the victim of crime, knowing that someone has deliberately tried to cause you harm can make people feel powerless and vulnerable. This can lead to depression or Post Traumatic Stress Syndrome. Victims of repeated crime such as domestic abuse or racism are particularly affected. Individuals may be too scared to go outside.
	In addition, this can have longer term problems which can affect work or studies. It could lead to victims no longer being able to work or leading normal lives showing another negative effect.




11. Explain, in detail, the reasons why some people are affected by crime more than others
	Point 
	Explanation
	Example
	

	1.
One reason that people are affected more by crime are victims. 
	
This means that a victim of crime may have long term issues as a result of this crime and these effects could last for a long time. 
	
For example, a victim of a serious of assaults may feel traumatised and feel fear about becoming a victim of assault again. 
	In addition, a victim may develop such anxiety that they are unable to work and this may affect the standard of living that they can afford as an result of being a victim of crime.



	2. 
Perpetrators are a group of people who are likely to be affected by crime more than others.


	This means that people who commit crime may be more likely to be affected by crime as they would suffer any consequences of committing their crime such as the punishment or having to live with their conscience.
	For example, a perpetrator who is convicted of crime may be sent to prison. This can lead to family breakdowns or the loss of income to those committing crime and their families.
	In addition, a perpetrator may develop depression or other mental illness because of the result of committing crime. 

	3.
People who own businesses could also be more likely to be affected by crime



	This means that a business who has been the victim of crime is likely to suffer the financial consequences that this would lead to. 
	For example, a business that has been broken into such as a shop would have a number of consequences such as losing business will repairs are made to the shop, and paying additional premiums to insurance companies. 
	In addition, these businesses may suffer regular thefts or break ins which could lead to such a financial strain on the business that it may close and the business owner would lose their livelihood.  



12. Describe, in detail, the ways the Children’s Hearing System can help young people in Scotland. 
	Point 
	Explanation
	Example
	

	1.
The Children’s panel can help if the child is a victim of an  offence

	This means that they have special measures to support the child and prevent any further distress or problems for the child. 
	They can remove a child from their home and into: 	
a residential school, a children’s home
, secure accommodation or foster parents. But only if this is the best way to protect the child.
	In addition, social workers can be asked to work with the child to access other services of support, showing that the children’s panel can help young people.

	2. 

The Children’s panel can help if the child has committed an offence



	This means that a Children’s Panel may meet with you and your parents to try to help you if you have been getting into trouble, or if you are in need of care and protection.

	For example, the panel members make a decision that is considered to be in the best interests of the child. 
	In addition, the Children’s panel can refer the child to a children’s hearing because they believe compulsory measures are required, such as ASBOS and electronic tagging.


	3.

The Children’s panel can help if the child failed, without reasonable excuse to attend school regularly.


	This means that at the hearing, all of the child's circumstances will be discussed, including background reports and wider family issues, not just the issue that caused the hearing to be called in the first place.
	For example, They can issue supervision orders for social work to contact the child. 


	In addition, the Children's Panel is interested in your welfare and try to ensure that you will not re-offend.





13) Describe, in detail, the ways the Government have tried to tackle / reduce crime. 
Describe, in detail, two ways in which the group you have chosen tries to tackle crime
	Point
	Explanation
	Example
	

	One way that the Scottish Government have responded to alcohol-related offences by trying to introduce a minimum price per unit of alcohol in 2012
	This means that over consumption of alcohol can cause violent or aggressive behaviour, especially at weekends, and people who become addicted to alcohol may commit crimes such as robbery or shoplifting to fund their habit. The Scottish Government have tried to tackle binge drinking, especially amongst youths, by trying to make high strength, low cost alcohol more expensive and so discourage binge drinking.
	For example, the new law – the Alcohol Minimum Pricing Act has not come into effect yet as it is being challenged by the Scottish Whiskey Association but it would ensure alcohol could not be sold cheaper than 50p per unit, which the Government hope would put people off binge drinking as much as they could not afford it. 
	In addition, half of Scottish prisoners now say they were drunk when they committed the offence so this might help. This means that the Scottish government are introducing strict measures to tackle crime as alcohol and crime are linked.

	Another way the Scottish Government have responded to drink driving offences is by lowering the legal drink drive limit.
	This means that driving over the legal alcohol limit is an offence, often leading to injury or death. Some people drive whilst under the influence of alcohol as it is may seem more convenient than having to take public transport or pay for taxis after drinking. Alcohol sometimes affects a person’s judgement, perhaps driving faster or more recklessly. 
	For example, the new law, passed in 2014, changes the legal alcohol limit from 80mg of alcohol in 100mls of blood to 50mg of alcohol in 100mls of blood, making the Scottish limit lower than other parts of the UK.
	In addition, the level of drink driving reduced by 12.5% between December 2014 and December 2015 after the introduction of this new law. This shows the positive effect that this law from the Scottish government has had on drink driving crime.

	Another way that The Scottish Government have reduced the crime of sectarian offences at football is by clamping down on religious hatred.
	This means that they felt there was too much sectarian singing and offences related to religious intolerance and bigotry at football matches, especially between rival mostly Catholic Celtic fans and mostly Protestant Rangers fans. This can cause people to feel threatened and uncomfortable and cause disorder.
	For example, The government responded by introducing The 2012 Offensive Behaviour at Football Act which gives police more powers to arrest fans who sing bigoted or sectarian songs at or on their way to football games and those convicted could face a prison sentence of up to 5 years
	In addition, the Scottish government claim that there has been a reduction of sectarian related crime however, it has been suggested that this law is not having much effect as violence and sectarian abuse remain a big problem in Scottish football.
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